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Seat No.: ________                                                           Enrolment No.___________ 

GUJARAT TECHNOLOGICAL UNIVERSITY 
Diploma Engineering - SEMESTER–V • EXAMINATION – WINTER 2013 

Subject Code: 355202 Date: 29-11-2013        
Subject Name: Industrial Management 
Time: 02:30 pm - 05:00 pm Total Marks: 70 
Instructions: 

1. Attempt all questions.  
2. Make suitable assumptions wherever necessary. 
3. Figures to the right indicate full marks.  
4. English version is considered to be Authentic. 

Q.1 (a) Define management, list its various functions and describe in brief. 07 
 (b) Define system and describe system behavior. 07 

Q.2 (a) Explain ABC analysis with suitable graph. 07 
 (b) Describe material management with their functions. 07
  OR 
 (b) List the types of production system and explain each in brief with example. 07

Q.3 (a) Explain “Gantt Chart” with uses of their symbols. 07
 (b) What is value analysis?  Describe its importance in details.  07
  OR  

Q.3 (a) Define Inventory Control. Describe objectives of Inventory Control.  07 
 (b) Describe production planning and control (PPC) with their advantages.  07

Q.4 (a) Calculate the Economic Order Quantity (EOQ) from the following data:             
(i)   annual usage 75 unit, (ii) procurement cost Rs.20 per order                       
(iii) cost per unit Rs.120  (iv) Inventory carrying  cost 20% 

07 

 (b) Write short notes on “provisions for the health of the workers”                           
in Factory Act, 1948. 

07 

  OR 
Q. 4 (a) Construct the network diagram and find the critical path and duration. 

Activity A B C D E F G 
Immediate 

Predecessor 
_ A A C B,D C E,F 

Duration(days) 3 8 5 4 7 9 3 
   

07 

 (b) Describe the advantages / uses and limitations of network. 07 
Q.5 (a) Construct the network diagram and find the critical path and duration. 

Activity A B C D E F 
Immediate 

Predecessor 
_ A A B,C B E,D 

Duration(days) 7 5 9 6 5 6 
 

07 

 (b) Explain Term used in CPM/PERT (i) activity (ii) event (iii) dependency       
(iv) dummy activity. 

07 

  OR 
Q.5 (a) One organization has given following data regarding required material:          

(i) total annual requirement 15000 unit (ii) ordering cost Rs.15 per order      
(iii) cost 20Rs. Per unit (iv) carrying cost 15%.  Calculate (a) EOQ of material 
(b) Total ordering cost, and (c) Total carrying cost at EOQ. 

07 

 (b) Write Short notes on “provisions for the safety of workers” in                 
Factory Act, 1948. 

07 
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Ȥજુરાતી 

̆ĕ. 1 અ મેનેજમҪટની ƥયાƉયા આપો, તેના કાયҴની યાદ� બનાવી, કાયҴȵુ ં Ȭંુકમા ંવણ½ન 

કરો. 

07 

 બ સીƨટમ(તં́ )ની ƥયાƉયા આપો અને સીƨટમ(તં́ )ના વત½ન િવશે વણ½વો.  07 

  ̆ĕ. 2 અ એબીસી એનાલીસીસ ȵુ ંયોƊય આલેખ / ˴ાફ સાથે વણ½ન કરો.  07 
 બ મટ�ર�યલ મેનેજમҪટ િવશે તેના કાયҴ સાથે વણ½ન કરો. 07 
  અથવા  

 બ ઉƗપાદન પćિતઓની યાદ� બનાવી અને દર°ક ȵુ ંȬંુકમા ંવણ½ન કરો.  07 

  ̆ĕ. 3 અ ગҪટચાટ½ȵુ ંતેની િસƠબોલના ઉપયોગ સાથે વણ½ન કરો.   07 
 બ Ⱥƣુય િવƦલેષણ Ƀુ ંછે ? તેન મહƗવ િવશે િવગતે જણાવો. 07 
  અથવા  

̆ĕ. 3 અ ઇƛવҪટર� કં˼ોલની ƥયાƉયા આપો, અને તેના ઉĆેશો જણાવો.  07 
 બ ઉƗપાદન આયોજન અને ӔȢુશ (પીપીસી) િવશે તેના ફાયદાઓ સાથે જણાવો. 07 

  ̆ĕ. 4 અ આિથ�ક વરદ� જƘથો (EOQ) શોધો. (1) વાિષ�ક વપરાશ=75 Ȼિુનટ, (2) ઓડ½ર  

ખચ½ =ȿુ. 20 ̆િત ઓડ½ર (3) એકમ દ�ઠ �ક�મત= ȿુ. 100, િનભાવ ખચ½ =20%  

07 

 બ કારખાના ધારો, 1948 ની, કાર�ગરોની તȳુંરƨતીને લગતી જોગવાઇઓ િવશે 

Ȭંુƈનҭધ લખો. 

07 

  અથવા  

̆ĕ. 4 અ નીચે દશા½વેલ મા�હિત પરથી પટ½ ડાયા˴ામ તૈયાર કર� કટોકટ� પથ તથા 

સમયગાળો શોધો. 

�˲યા અ બ ક ડ ઇ  એફ ĥ 

ȱરુતની ȶરુોગામી 

˲�યાઓ 

- અ અ ક બ, ડ ક ઇ,એ

ફ 

સમયગાળો �દવસમા ં 3 8 5 4 7 9 3 
 

07 

 બ નેટવક½ ના ંફાયદાઓ / ઉપયોગો અને મયા½દાઓ િવશે સમĤવો. 07 

  ̆ĕ. 5 અ નીચે દશા½વેલ મા�હિત પરથી પટ½ ડાયા˴ામ તૈયાર કર� કટોકટ� પથ તથા 

સમયગાળો શોધો. 

�˲યા અ બ ક ડ ઇ એફ 

ȱરુતની ȶરુોગામી 

˲�યાઓ 

- અ અ બ,ક બ ઇ,ડ 

સમયગાળો �દવસમા ં 7 5 9 6 5 6 
 

07 

 બ સીપીએમ/પટ½ મા ંવપરાતા પદો (1) ̆ɂિુĂ (2)બનાવ (3)અવલબંન       (4) 

િન�Ƨ˲ય ̆ɂિુĂ, િવશે સમĤવો. 

07 
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  અથવા  

̆ĕ. 5 અ એક કારખાનાની મટ�ર�યલની જȿુ�રયાત Ӕગેની મા�હિત િનચે Ⱥજુબ છે. (1) 

Ȣુલ વાિષ�ક જȿુ�રયાત = 15000 Ȼિુનટ (2) ઓડ½રનો ખચ½ 15 ȿુ. ̆િત ઓડ½ર 

(3) દર°ક Ȼિુનટનӄ �ક�મત =10 ȿુ. (4) જƘથો રાખવાનો ખચ½ =10% સં˴ હ�ત 

જƘથા ઉપર. ગણ́ી કર� શોધો, (1) મ�ટ�રયલનો આિથ�ક વરદ� જƘથો(EOQ)  

(2)Ȣુલ ઓડ½ર ખચ½ (3) Ȣુલ જƘથો રાખવાનો ખચ½. 

07 

 બ કારખાના ધારો, 1948 ની, કાર�ગરોની સલામતીને લગતી જોગવાઇઓ િવશે 

Ȭંુƈનҭધ લખો. 

07 
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